0|

2=

0 oo |
X X
o | < 0
AR b=

Q@ ©



© 9+

1
7

O 7+

1
5

Q 6+

©® 0, 0,0 ® 0 9,0

®®.09 0

® 0O 0,0
@ 0O, 0,09



3. oo Aol g3t 2

A2 AL o AJY7L?
104 +1.3
O 24+0.3 @ 72+09
@ 19.2+24

@ 84+1.2
® 4806




4. THE WRAlE Bo] 2 AL ol ALY

0.036 +0.12

D 0.36+12 @ 3.6+12 @ 36+ 12

@ 0.36 +0.12 ® 0.036 + 0.012



ol A

5.




@ 6:
@ 4:
® 2:
@ 4:
® 3:

3 _Q] @%]—31]. S 5F O 3=
o —r*ooﬂoa BO}OqE H]Q’] ﬁ%@%q‘:}

6] Hlo] ke s 129] Hlo] gkt BTt

9] Hlo] gr& 139 Hlo] 7kt 2k



Uk

SfloF

m, ©f

SH
=

® 12 @ 15 ® 24

@ 16



1559 4247} of

iy

o7

o ol

e
Hr

@ =Ae



FREY 57F =54

S

Ho

=

——

fife)

K

=l

ol

™

ol o

v K

T o

2

T

Aen )

= <
e

I

ol .

™l T



10. =& AAtsA L.

8. 4
5 15
oMl g3 ® 62 @ 7 ® 1%

135 20




rlo
S,
rlo
2
in
s,
o
W
S

O

11 Wi SoA Fol 1 1et 2}

D 57.96+-9.2 @ 7.44+0.6 ® 8.96+11.2

@ 21.5+2.5 ® 1.82+1.3



12. b5 F oA & Bl e e Zot 7|2 & 242,

@ © ©

/
%




13.

vh o] Z]F0] 80cemSl A AZF syt A o] HES o W
HF O

92 djobt oA 259718 Feka gyl o] AR 125.6m
£ Jheld A H2L 2 9 golok 1A T2,

> R H



€ 7oL,

#1o] el

uh

i
il
)
=

“4cm-

cm



15. ohe 23 2R 280] Gem, Eol7} 12em 9l 971%50] ALY
Yok, AAmeA Azt el S @ an ] FEHAL.




16. o5 192 ¥Ho 5] 8em, EO17F13em Q1 97152 A=
Utk ¥ zof ol 9 em 1A FEHA L. (T e Edle A2

3.148) YYrt)
O .




© =4

)
g

@ WA Ag




9, o

18.

F(EEH)

F(EE)

dl



19. 12719} go] B7|Ure] 4R

HO 9O
T = T
F

87H

M







)
%

o

® 8000

2

@ 6000

_9‘%

@® 4000

2

® 12000

=

@ 10000



22, o= HAOA AR FE 0 HolE TS L.

000).,




23. 72& o & AEA F ¥ YEAEY 457} H ATl o
ofd 45 &= YEA L.

D
=%






~12cm-~

~

cm?



